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4 4 coth” x cschx — cosh2
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secx / csch3:r




59 LS L Jlad) 2244
LSl L3I Jlgd 2.4
s a3l ! 1) Sl DI (1)
SWE Gpaigsinh ™ @ 50k LS ol U1 denSall DI 55
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JWE Gyasgcosh™ 2 3a0b LSl aled)] s U1 dnSa)l D1l a3
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1

/(ac—l)

dx
vV—z?2+2x+3

1
_/(a:—l) 5o o)

dx

1 1
/(z—l)\/4—(x2—2x—|—l)dx /(x—l) 22— (x —1)2
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U= dv = e® dx
du = dzx v=e"

/xQemdxz26I2{xex/exda7]

:zzemf2ze‘r+2/emdz:z2ez72:rem+e‘”:(x272x+2)e‘”+c
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1
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u=1In(1+ 2?) dv = dzx

2x
du = ——
u T2 T
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1
tan 'zdr=ztan 'z — | —— xdx
1+ 22

1 2 1
:mtanflx—f/ < dmzxtanflx—iln(l—i—ﬁ)—kc
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/Sin*1 T dx
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1
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1
— 1— 2\ 2
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s Jod!
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du = —sinx dx v=e"

1
2

/e“" cosxdx:eicoszf/fsinxem d:c:e””costr/sinxem dz
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du = cosx dx v=e"
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u=cosT yagadl plaseisl
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/sin5x cos” x dr (3)
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/sinSx cos” zdx = /sin4z cos’ x sinzx dx
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= (sm ac) cos' x sinx dx = (1—cos x) cos' x sinx dx
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